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WIESR SHOEE FREBETHERGTEENEN LRMLE(EIRESR)
% 5 s - Bk i 2 B il & 4 i

BRI 7,677,000 + 726, 108 8,403, 108

7,677,000 + 952,064 8,629, 064 225, 956
EEAGE

7,677,000

EERE 726, 108
952, 064 225, 956

Z DR

7,677,000 x 53.85% ( 35% - (1 — 35%) ) 4,134, 064

EHRIE 8,403,108 + 4,134, 064 12,537,172
8,629,064 + 4,134,064 12,763,128 225, 956

—REERZ 12,537,172 x 53.85% ( 35% =~ (1 — 35% ) ) — 8, 439 6, 742, 828
12,763,128 x 53.85% ( 35% =+ (1 — 35% ) ) — 6,072 6, 866, 872 124,044

E5{MmE 12,537,172 + 6,742,828 19, 280, 000
12,763,128 + 6,866, 872 19, 630, 000 350, 000

EHERSHLE 19,280,000 x 10.00% 1,928, 000
19, 630,000 x 10.00% 1,963, 000 35, 000

EBRIAH 19, 280,000 + 1,928, 000 21,208, 000
19, 630,000 + 1,963, 000 21,593, 000 385, 000
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3 AEEE DR
EHB (—XR) .00 353,900 353,900
4 ) AEDOER
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HB (/—XR) .00 306, 700 306, 700
6 B LTHRE S -EEORKRE
HB (—R) .00 353,900 353,900
KEZDEEWHN
2,191, 800
1 RS ZBCPIHES DEEWE
[=] .00 207, 400 207, 400
8 RFEEBCPIZEBRDERMEMR
[=] .00 288, 700 288, 700
9 XL DEE BN
[=] 3.00 207, 400 622, 200




BERNRE SH6ERE FLALHERGHEENA LRIESE (GIELR

% b3 R - BiRksHE BAfL H 2 B @ € £ B E
10 (EEIEDERER
E 3.00 288, 700 866, 100
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1,252, 400
12 FEMBRBIBAOEE L 5 KICHE
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ECo EHE (5/—R) 1.00 609, 800 609, 800
13 AREH DB
EBE (5/—R) 1.00 353, 900 353, 900
14 0—4 a3y TORE
EHE (5/—R) 1.00 288, 700 288, 700
IRILF—EERRDOFERINE
416, 100
15 E7VVIHRE
EE (5/—R) 1.00 160, 200 160, 200
16 E7) VI HRDER
EHE (5/—R) 1.00 255, 900 255, 900
EREHEOSRE
511, 800
17 FIEE () E0HE
HR (5/—RX) 1.00 255, 900 255, 900
18 7ovavh—Fo%E
EHE (5/—R) 1.00 255, 900 255, 900
BEM
472, 900
19 EBERREER
= 1.00 453, 700 453, 700
20 AEAARERIER
= 1.00 19, 200 19, 200
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806, 600
21 BHiRE
] 1.00 121, 800 121, 800
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22 hfsRE
&l 4.00 121, 800 487, 200
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=] 1.00 197, 600 197, 600
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952, 064 225, 956
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68, 704
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= 1.00 68, 704 68, 704
EXRER
61, 000
25 EHERER
= 1.00 61,000 61, 000
RELRE 596, 404
822, 360 225, 956
26 £58
= 1.00 249,920 249, 920
EEES
= 1.00 65, 000 65, 000
28 W& ( T{RE2EBCPIHESR] ) 1.00 281, 484 281, 484
= 1.00 259, 160 259, 160 -22,324
29 & (ERiHE) 0. 00 0 0
= 1.00 40, 360 40, 360 40, 360
30 & Gl N—HIL) 0. 00 0 0
= 1.00 80, 720 80, 720 80, 720
3 kE (EEMRBEAERICKRSIE 0.00 0 0
il
L = 1.00 65, 520 65, 520 65, 520
32 B (TFLF—HEREOET Y 0. 00 0 0
e = 1.00 61, 680 61, 680 61, 680
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